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VAR3[ =(CLOSE-MA(CLOSED 6))/MA(CLOSED 6)*1000]
VAR4 =(CLOSE-MA(CLOSED 24))/MA(CLOSED 24)*1000]
VAR50 =(CLOSE-MA(CLOSED 32))/MA(CLOSED 32)*1000
VARG =(VAR3+VAR4+VARS)/30]

VAR70 =EMA(VARSC 5)0]

VARS8 =IF(VARG&ItD

=-200] 1007 0)]

VAR9D =HHV/(VARSO 10)0]

VARALD =IF(VAR9 AND CROSS(MA(CLOSED 3)0 MA(CLOSEC 5))0 200 0)0
KO =EMA(VAR70 5)*20

DO =EMA(KO 5)0
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JO =K*3-D*200]

VARCO =(ZIG(30 5)&gt0

REF(ZIG(30 5)0 1)) AND (REF(ZIG(30 5)0 1)&It0

=REF(ZIG(30 5)0 2)) AND (REF(ZIG(30 5)0 2)&ItD

=REF(ZIG(30 5)0 3))0

scO VARC=10
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VAR3:=(CLOSE-MA(CLOSE,6))/MA(CLOSE,6)*100;VAR4:=(CLOSE-MA(CLOSE,24))
/MA(CLOSE,24)*100;VAR5:=(CLOSE-MA(CLOSE,32))/MA(CLOSE,32)*100;\VARG:=(
VAR3+VAR4+VARS5)/3;VART:=EMA(VARSG,5);VARS:=IF(VAR6<=-20,10,0); VAR9:=H
HV(VARS,10);VARA:=IF(VAR9 AND CROSS(MA(CLOSE,3),MA(CLOSE,5)),20,0)K:
=EMA(VAR7,5)*2:D:=EMA(K,5):J:=K*3-D*2:VARC:=(ZIG(3,5)>REF(ZIG(3,5),1))
AND (REF(ZIG(3,5),1)<=REF(ZIG(3,5),2)) AND
(REF(ZIG(3,5),2)<=REF(ZIG(3,5),3)):SC:VARC=1, 0 0 000000000000
000000000000000000000000000000000
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